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ABOUT US:

FTSE Group (FTSE) is a world-leader in the creation and management of over 120,000 equity, bond and alternative asset class indices. With offices in London, Frankfurt, Hong Kong, Beijing, Shanghai, Madrid, Milan, Mumbai, Paris, New York, San Francisco, Sydney and Tokyo, FTSE Group works with partners and clients in 77 countries worldwide.

INTRODUCING FTSE:
FTSE is an independent company jointly owned by The Financial Times and the London Stock Exchange. FTSE does not give financial advice to clients, which allows for the provision of truly objective market information. FTSE are abbreviations for the company meaning, " Financial Times Stock Exchange 100 stock index” but people prefer to use the abbreviations which makes it easier to pronounce. FTSE indices are used extensively by a range of investors such as consultants, asset owners, fund managers and investment banks. Stock exchanges FTSE International Limited is a limited liability company registered in England and Wales under registered number 03108236 with its registered office at 12th Floor, 10 Upper Bank Street, Canary Wharf, and London, E14 5NP. FTSE International Limited's VAT Number is: GB 740 4594 35and brokers. As a LIMITED LIABILTY COMPANY in which the liability of the members or subscribers of the company is limited to what they have invested or guaranteed to the company. Limited companies may be limited by shares or by guarantee. And the former of these, a limited company limited by shares, may be further divided into public companies and private companies. Who may become a member of a private limited company is restricted by law and by the company's rules. In contrast anyone may buy shares in a public limited company.
AIMS AND OBJECTIVES OF FTSE EXPLAINED
Their aim is to dominate the UK, American and Asian markets: To achieve this aim, FTSE will have to invest in large companies in the UK, America and Asia mainly but also concentrating on the small companies which might have potential to gain value within the stock market.
To Produce High Level of Income is one of FTSE’s aim: To successfully achieve this aim, FTSE is to produce an over average income fund to companies with good policies of providing a rising income and capital growth over the long term period because if companies manage to do this, it means more money coming in and this makes it easier for the companies to raise their income.
International Growth meaning that FTSE want to expand within the global markets. This is one of FTSE aim: To achieve this aim, FTSE is to practice sort of like an investment objective by funding within those global markets of interest. This fund is to achieve capital growth over the long term by investing in global companies. The fund will concentrate on the value of large companies whilst maintaining an average image to smaller and medium sized companies with above average potential for growth.
Achieving Long Term Capital Growth is one of FTSE’s main aim, almost similar to International Growth but these two are different in way of how they are to be achieved: For FTSE  to gain value for their assets over a period of time, they will have to create a well recommended market value to their sales. By them doing this, it will automatically enable them to gain larger sales and this means more capital to be created. Examples of such are market share price, name for Franchisers and so forth. FTSE is a company which needs consumer trust so it will have to develop with time therefore it will have to achieve Capital Growth.
Guaranteed Equity is one of main FTSE aim and this is simply meaning the value of an ownership interest on assets in properties: To achieve this Guaranteed Equity, FTSE’s objective will now be to give an assurance to consumers that they will get the value of their money through investments by FTSE. FTSE will have to prove itself by performing well within their operational period and might enhance this by showing past records of how well it has been performing. FTSE will also be able to gain a larger market share and will also have a name created for it-self.
To introduce Gilt and Fixed interests is an aim which FTSE is looking forward to achieve: To achieve this Gilt and Fixed, FTSE will first have to gain larger capital and value in their assets which is the objective. This also includes increasing their sales. By this, FTSE will be assured that it would not get a loss from introducing Gilt and Fixed since indices change on the stock market. Interests are good to attract consumers to the service because despite changes that might occur to the markets, it does not affect interests which investors should get because there will be fixed rates.

FTSE’s aim is on investing and creating smaller companies: To achieve this aim, FTSE will have to practice global expansion to cover a larger market share which can result in profits being maximised. Smaller companies can be a result of expanding employment which can be a good on the economy and jobs will be created.
Properties Value or Liquidity is another aim which FTSE wants to achieve: For FTSE to gain the value in properties normally named by the term ‘liquidity’ FTSE will have to value of fixed assets of their business and how much of great importance they can be to a company. Properties are very important in such a way that if a company is developing well within a certain period of time, they can also gain value despite their age. For example a brand name created is an in-tangible form of value investment for use in Franchising firms and so forth.

	AIM: FTSE’s main aim on this is to dominate the UK, Asian and American markets compared to that of its rivals like Dow Jones.

OBJECTIVE: To achieve this market domination, FTSE will have to compete the on-going currency crash meaning that the FTSE 'should' perform relatively more strongly than the Dow as a result of the exchange rate movement as stated in-depth analysis in 2008. Investing with smaller companies that graduate into FTSE 250 index rating.
	SPECIFIC- This aim is specific because referring to FTSE past records, they indicate that market domination has been achieved for the past years.
MEASURABLE- It is measurable because FTSE measure how well they are doing on the stock market every financial year and this includes the market share they have dominated.
ACHIEVEABLE- This is achievable because FTSE have proved this before by surviving well during the recession more than any other stock company.
RELEVANT- This is relevant because it could be measured in-terms of income yearly and compared to the incoming of Dow Jones as a competitor and benchmark.
TIME SPECIFIC- This aim is time specific because FTSE aims is to achieve this as an ongoing objective which means that this is to be always improved on despite them reaching their target goal for that specific financial period.


	AIM: To produce High Level of Income is another FTSE’s main aim.
OBJECTIVE: To achieve this aim, FTSE will have to produce an over average income fund to companies with good policies of providing a rising income and capital growth over the long term period.
	SPECIFIC- This is specific because is to be done within the period of the ‘BOOM AND BUST’, high income should be increased by at least 5%.
MEASURABLE- This is measurable because FTSE has worked out on ways to improve sale by extending into global markets.

ACHIEVABLE- This is achievable because assessed surveys for the past 10 years in each spaced financial year have proved that more efficiency by employees can improve the level of income. It shows also that FTSE has managed to do this in the past years when they expanded within the global markets.
RELEVANT: This is realistic because due to market research, FTSE has been able contrast their past sales and these have revealed that it has been doing well which makes it relevant or practical because it has been done before.
TIME SPECIFIC: This is time specific because FTSE is to maintain this aim as an on-going objective which means this is to be improved on all the time despite them reaching their targeted aim.

	AIM: FTSE aim is to achieve long term capital growth
OBJECTIVE: To achieve this aim, FTSE will have to gain value for their assets over a period of time which is collateral normally known as ‘liquidity. This will involve them in getting bank loans and investing in small businesses. 
	SPECIFIC: This is specific because FTSE has managed to gain capital in different parts of the world over the past years referring to the past sales records. This makes this aim specific because it is nothing new to FTSE and their aims.
MEASURABLE-This is measurable because looking over FTSE pasts records, these prove that FTSE has been expanding well into other parts of the world and it managed to gain fixed capital so it has been done before as measured.
ACHIEVABLE- This is achievable because FTSE has managed to achieve this before but it is just that this time is to be improved on and worked on a bit more so as to improve on their fixed capitals which is the long term capital growth.
RELEVANT- This is realistic because this has been tested before and has proved to be practical, which makes it relevant. Besides this being relevant to this aim, it has been done before which makes it more relevant or realistic to be put in place.

TIME SPECIFIC- This is time specific because this is an on-going aim which means that if FTSE is to reach its targeted goal, it still has to work on improving more of this Long Term Capital Growth

	AIM: FTSE’s aim is to have GUARANTEED EQUITY
OBJECTIVE:  For FTSE to achieve Guaranteed Equity, it will have to give assurance to consumers that they will get the value of their money through investments by FTSE. By giving itself a market status like this, FTSE will be able to gain a larger market share and will also have a name created for it-self on the stock market compared to its rivals like Dow Jones.
	SPECIFIC- It is specific because this actually tells the customer of advantages of investing with FTSE and this actually explains it all on how the system is going to work compared to the previous ones.
MEASURABLE- This is measurable because FTSE has referred to its past sales and income records. These have shown that FTSE’s increased sales and income have been enhanced by most firms leaving Dow Jones and the rest and coming to invest through FTSE’s indexes.
ACHIEVABLE- Because of its good market status and gaining more firms than before, FTSE has proved this aim to be achievable because that is what they are actually doing and is not a predicted aim.
RELEVANT- It is realistic because FTSE is been doing so well benchmarking on this aim and comparing how much firms have come to use FTSE into effective with their investments.
TIME SPECIFIC-  It is time specific it is an on-going development which means that FTSE is to keep on persuading customers with their guaranteed profits which all investors are looking forward to. This is done to enquire large sales an income so it is indeed an on-going project.
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